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above to that question. =N
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FA+3+5+...4p)+(1+3+5+...+q)
=(1+3+5+.... + 1)

where each set of parentheses contains
the sum of consecutive odd integers as
shown, what is the smallest possible value
of(p+q+r)wherep>67?

(a) 12

(b) 21

(c) 45

(d) 54

LetA= {x|x<9,x e N}.LetB={a, b, ¢}
be the subset of A where (a + b+ c¢)is a
multiple of 3. What is the largest possible
number of subsets like B ?

(a) 12
®d 21
(c) 27
(d) 30

LetA={-1,2,5,8},B={0,1,3,6,7} and
R be the relation ‘is one less than’ from A
to B, then how many elements will R
contain ?

(a) 2
(b) 3
(c) 5
d 9

A mapping f : R — R which is defined as
fix)=cosx;x € Ris:

(a) One-one only

(b) Onto only

{(c) One-one onto

(d) Neither one-one nor onto

If o is a complex number such that
o’ + o + 1 =0, then what is a* equal to ?

(@) «
(b) o?
() 0
@ 1

Ifx?, y’, Z2arein AP, theny+z,z+x,x+y
are

(a) in AP
(b) in HP
(¢) inGP
(d) neither in AP nor in HP nor in GP

Natural numbers are divided into groups as
(1),(2,3),(4,5,6),(7,8,9, 10) and so on.
What is the sum of the numbers in the 11™
group ?

(@ 605
(b) 615
© 671
(d) 693

If a, B are the roots of ax? + bx + b= 0, then

what is \/\/(;: + \/JE + ﬁ equal to ?
(@ 0
(b) 1

(c) 2

@3 > ;\_\\\\//——-——-..—-/’_“
)
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IR (1+3+5+...+tp)+(1+3+5+...+q)
=(1+3+S+...+71)

Vgl FSH T OYAEF @Y=ad FAWG [AuH
quifet & AT Y Sidfdse FEar 8, S Remr
T | (p+q+r), 6 p> 6, F GEY BET
o O Fr e 7

(@) 12

(b) 21

(c) 45

(d) 54

qﬁ?‘ﬂﬁt&A={x|xS9,xeN}llqﬁW
B=1{ab,c}, A F IJ9-gy==y B, &

(a+b+c), 3F F & | B A8 I9-TY=4
1 sfowa g0 gem T 7

(a) 12
by 21
(c) 27
(d) 30

o e A= {-1,2,5,8},B={0,1,3,6,7}
I A ® B OF U5 I94 UH FH B
Y R g 99 R o s/@ug sjafdse gin ?
(a) 2
(b) 3
(c) 5
(@) 9

yfafEer f: R > R f(x)=cosx;x € R
TR R B, w7

(a) HacT T

(b) I I=BRH

(c) THH IH=BEH

(d) = & T AT T F A=SR_F

ofg aftay d@m o @ T § 8 &
2+o+1=0,7 o g awET g ?

(@) a
(b) «o?

(©) 0
@ 1

IR x4, y2, 2 AT AN A § T oy + 2,
z+x,x+y%

(a) WHFAX S A
(b) TUHSF A H

(c) U S A

(d) T @ TR, T EHF AT T & PR
At |

s d@rE & (1), (2, 3), 4, 5, 6),
(7,8,9, 10) 3% 6 a6 F wyEl ¥ sqieT WO
21 113 g & 3@ 71 dwd w8 7

(@) 605
(b) 615
) 671
d) 693

TR ax?+bx+b=0% YT o, B &

JJ§+JJE+? e @t 2m ?
a +a

@ 0

(b) 1

©

2 =N\
@3 ;\_\\\\//——-——_..—-/’_“
——
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10.

11.

12.

If the roots of ax? + bx + ¢ = 0 are sin o and 13.

cos o for some a, then which one of the
following is correct ?

(a) a’?+b?=2ac

(b) b?-c?=2ab

(¢) b?-a’=2ac

(d) b*+c?=2ab

What is the coefficient of x* in the expansion

Cof (1 +2x+3x2+4x7 + ... )27

(@) 1/4
(b) 1/16

(1

(d) 1/128 14,

If x =2+ 214+ 223 _then what is the value of
X —6x2+6x7?

(a) 1
(b 2
(c) 3
(@ -2

! log, 64
What is the value of (logy; 9) (log 64) ,
(a) 1

(b) 2

() 4

(d 8

logy 2 ! 15.

If X and Y are the matrices of order

-7 0
2x2 eachand2X—3Y=[ 7 _13j| and

9 13
IX+2Y= , then what is Y equal
4 13 |
to ?
13
@ | -2 1
13
® |5
R
© -1 s
THIPE
(d) =

If a, b, ¢ are non-zero real numbers and
l+a 1 1

1 1+b 1 {=0, then what is the
1 1 l+c
value ofl+'-'|'l ?
a c
{a) 2
(b) 1
(c) -1
(d 0

If a matrix A is symmetric as well as anti-
symmetric, then which one of the following
is correct ?7

(a) A isadiagonal matrix.
(b) A is a null matrix.
(c) A is aunitmafrix.

(dy Aisa tnangl\

L
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9, 4 sin o T cos a BFET o F @ 13, o} X M Y, w@F 2x2 W F JvegE
ax*+bx+c=0F g@ &, o Pr=fofem § & -7 0
A T TR ? g ot 2X-3y=| ., 4| ™
9 13
() a'+b*=2ac 3X+2Y=[4 H],E?f‘&’ﬁ»‘ﬂ%a'(m%?
(b) b*—-c?=2ab _
13
(c) b*—al’=2ac (@ | _, 1:| '
(d) b?*+c?=2ab "1 3
| ® 12
10, (1+2x+3x2+4x* + ... )% TR F x4 & 3 2]
ToTE FaT # ? : (c) [_1 5
(a) 1/4 [3 2]
by 1/16 @ 11 -5
© 1 A
14, % a, b, c 77 Lo
(@) 1/128 1+: lc |
: 1 1 1
- 1 1+b 1 {=0,@ SHEte @
11, Tk x=2+2'"+22 77 x> - 6x%+ 6x FT H 1 1 l+c
FE 7 o= FE 7
(@) 1 (a) 2
b)) 2 () 1
(© 3 () -1
(d -2 @@ 0
(log,; 9) (logs 64) 15. 3R sregg A, wEfda i) & € vl w9lE
2. R & Preafi # & A o wd § 7
@ 1 (a) A TF faof amegp 8
® 2 (b) ATH ¥T e
© 4 (c) A@gﬂigﬂ%%
@ r X
(d) 8 -7 7/
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16.

17.

18.

19.

1 -2 -3
IfA=]2 1 -2
3 2 1

, then which one of

the following is correct ?
(a)
(b)
(©)
(d)

A is symmetric matrix.
A is anti-symmetric matrix.
A is singular matrix.

A is non-singular matrix.

20.

2a 3r X a r x
If | 46 6s 2y|=Alb s ¥y
-2¢c -3t -z c t z

, then

what is the value of A ?
(a) 12

(b)
(c) 7
dy -7

-12

21,

What is the value of

1—i w?

©? +i o —i

-
where o is

1-2i-0w? - i~

the cube root of unity 9 - 22

(a) -1
(®) 1
) 2
@ o

6

What is the length of arc of a circle of radius

5 ¢m subtending a central angle measuring
15°?

(a) S5n/12cm

(b) /12 cm

(c) ©/12cm

d) w/5cm

What is the maximum value of sin© cos @ ?
(a) 1 |

() 172

© 1/42

@ 372

If sin x + cosec x = 2, then what is the value
of sin*x + cosec*x ?

@@ 2
(b) 4
) 8
(d 16

What is the value of tan 15°+ cot 15°?

@ 3
(®) 243
(c) 4
) 2

SN

ww. tuEtIDHDer in

Unfold Every Question




~

19. 5cm JdN® F g & IF Y N TR W

1 -2 -3 o . 5
16. AR A=[2 1 2| =R a ¥ 150w i v 7.
3 2 1 {(a) 5n/12cm
PR T G 7 () /12 em
(a) A wwi e @ © w/12em
(b) A vR-uafE aregg 2 @ w5em
(¢) Ageri smeye 3
(d) A FegeFIiT e ¥ 20. sin O cos O 1 FVFAT A T B ?
(a) 1
2a 3r X ar x
17. aft | 4b 6s 2y|=A|b s y[, ®) 12
-2 -3t -z ct z ©) 1/42
AT HE FTE T A 32
(a) 12
(b) -12 21. uf? sin x + cosec x =2, Al sin’x + cosec*x
HTHAA R E ?
) 7
@ -7 @ 2
(b) 4
C1-i o -0 ) 8
18. 0)2+i (1] —i | FTEHA T (d) 16
1--_2i‘—¢n2 0l-0 i-©
Tl o, TR F T § 7 22. tan 15° + cot 15° T 99 w7 & 7
@ - @ V3
b) 1
® ) 243
2
() © 4 N\
@ 0 \/\,,,
@ 2 //,.\_\\\ /‘_______—-.../’——*
/—E, )
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23.

24,

25.

26,

If A+ B + C = n/2, then what is the
value of tan A tan B + tan B tan C +
tan Ctan A ?

(@ 0
(®) 1
(c) -1
(d) tanAtanBtanC

If angles of a triangle are in the ratio
1 : 2 : 3, then what is the ratio of its
corresponding sides ?

(a 3:2:1
(b) 1:2:.43
(v) 1:@:2
d 2:./3:4

If C(n, 12) = C(n, 8), then what is the value
of C(22,n)?

(a) 131
(b) 231
(c) 256.
d 292

53 A=i:cg 0 ] where ® is cube root of
®

unity, then what is A% equal to ?
(a A

(b) -A

(¢) Null matrix

(d) Identity matrix

8

27. What is the mbdulus of

28.

29.

30.

Www.questionpaperz.in

Unfold Every Question

r

1+2i

to ?

(@ S
(b) 4
(c) 3
(d)y 1

What is the value of

(T L4 4279 wheren e N ?
(a) O

(b) 1

(c) i

@ -i

Ifx=(1101),andy=(110),, then what is
the value of x2 —y??

@ (1000101),
(b) (10000101),
(© (10001101),
(@ (10010101),

f(10x010),-(11yI),=(10z11),
then what are the possible values of the
binary digits x, y, z respectively ?

@ 0,01
) 0,1,0
© 1,1,0

@)oxxo;;ilgbﬂz;a;_‘




23, sR A+ B+C=n72 T tanAtan B + 1+2i

F1 A9F fFad sy ?

tanBtanC+tan Ctan A &1 719 M & ? 27. 1202
@ 0 @ 5
® ® 4
(d) tanAtanBtanC @ 1
24, 1R FHEL2:3F SO N E
amﬁﬁw&:wﬁmwa? 28 (=D 4 (¥4 7TY o
@ 3:2:1 T neN?
® 155 (8 0
T2 A3
() 1
(€ 1:3:2 © i ‘
@ 2:y3:4 | @ i - ‘
25. R C(n, 12)=C(n, 8), M C(22,n) M AF  29. TR x=(1101),M y=(110),, T x?-y?
FE? HT AT RTE Y
(a) 131 | (8) (1000101), ‘
(b) 231 (b) (10000101),
(c) 256 () (10001101),
(@ 292 (d (10010101),
o 0 30. A (10x010),-(11yl),=(10z11),
26. ‘ﬁA=|:O m],ﬁﬁw,mﬁﬂmﬁ, o faomardt @Y x, y, 2 F woafad 7 FAw
T AC FEd srET g ? wE?
@ A (@ 0,0,1
by A ® 0,1,0
(©) T T © 1,1,0

(d) TEHS ATGE

@) 0,00 TN\ ,
N\
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31.

32,

33.

34,

The roots of the equation (x - p) (x ~q) =1,
where p, q, r are real are

(a) always complex

(b) always real

(c) always purely imaginary
(d) None of the above

If (sin x + cosec x)? + (cos x + sec X)? =
k + tan? x + cot?® X, then what is the value of
k?

(a) 8
® 7
© 4
(d 3

A matrix X has (a + b) rows and (a + 2)
columns; and a matrix Y has (b + 1) rows
and (a + 3) columns. If both XY and YX
exist, then what are the values of a, b

respectively 7
(a) 3,2
(b) 2,3
() 2,4
(d 4,3

In a football championship 153 matches
were played. Every team played one match
with each other team. How many teams
participated in the championship ?

(a) 21

(b) 18

(c) 17

(d) 15

35. The equation x — 2(x — 1) = 1 — 2(x — 1)"*
has
(a) no roots
(b) one root
{c) two equal roots

(d) inﬁnité roots

- 36. The number 0-0011 in binary system

represents

(a) rational number 3/8 in decimal system
(b) rational number 1/8 in decimal system
(c) rational number 3/16 in decimal system
(d) rational number 5/16 in decimal system

37. The functiony =tan™' x - x
(a) is always decreasing
(b) 1is always increasing
(c)} first increases and then decreases

(d) first decreases and then increases

38. If n(A) = 115, n(B) = 326, n(A — B) = 47,
then what is n(A w B) equal to ?
(a) 373
(b) 165
(c) 370
(d) 394

39. What does the equation x dy = y dx
represent ?

(a) A family of circles

(b) A family of parabolas

Unfold Every Question




31. gHH (x -p) (x —q) =P F ¥, W@
p, q, r IEARE B,

(a) e uitey §

(b) &hET TGRS &

(c) AN Y&G: FeAE §

(d) SUde ¥ & g A

. UX (sin x + cosec X)? + (cos X + sec X)? =
k+tan?x +cot? x, W k& A T ¥ 7

(a) 8
(b) 7
¢y 4
d) 3

. Tt aregE X A (a + b) W SR (a+ 2)
i £ 3T Bt amege Y (b+ 1) gt s
(a+3)ww F 1 o’ Xy M YX 21 sfkaea
HEAa,b® U WA AT E ?

(@ 3,2

(b) 2,3

(c) 2,4

(d) 4,3

._ heaTe &Y Th giadfar 153 A @ Ty
T F W 7 ylS qEl W @ g U A9
aar | e O A vfedfar # st fean ?
(@)
(b)
(c)
(d)

L TR - 2(x - 1) =1-2(x-1)'#

(a) T T T

(b) T T B
(c) ? F-§HT YA &

. d) T E
.i%amrﬂqaﬁfﬁmooonmﬁnsﬁa

FH & ?

(a) wfew war 3/8 <oifas gafy A
(b) aftm d@m 1/8 <vies gafy #
(c) uRAT H@w 3/16 sofas ggly &
(d) ufom d@ 5/16 sofes Tgia &

. /AT y=tan"' x =X

(a) 9T FEATT B

(b) §25 adwrT &

(¢) e Fdw I fre gEmE &
(d) TEa FEAE AT BT adqE 2

. 1R n(A) = 115, n(B) = 326, n(A — B) = 47,

a n(A U B) fFad stEc g ?
(@) 373
(b) 165
(¢) 370
(d) 394

. g x dy =y dx #1 Prefie st g 7

(@) %
(b) TET-FA
(c) FRTEeE-F

(@ m%@f\\//
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40.

41.

42,

43.

What is the value of k if the area bounded
by the curve y = sin kx, y = 0, x = w/k,
x = w/(3K) is 3 square units ?

(a) 1/2

) 1

() 372

(d) 2

What is the solution of the differential
equation x dy — y dx = xy* dx ?

(a) y+x?i=c¢

®) y+2xc=c

(© y+x'=c

(d) x*+2xy'=c

where c is a constant,

1
If f(x) =a+ bx +cx?, then what is j f(x)dx
0

equal to ?

(a) [f(0) + 41(1/2) + f(1))/6
(b) [f(0)+4£(1/2) + £(1))/3
(c) [f(0) +41(1/2) + f{(1)]
(d) [f(0)+2f(1/2) + f(1))/6

a+bsinx

What is _[ dx equal to ?

cos? x
(a) asecx+btanx+c¢c
(b) atanx+bsecx+¢c
(c) acotx+bcosecx+¢
(d) acosec x+bcotx +¢
where a, b, ¢ are constants,

44,

45,

46.

47.

42
If e¥ + xy = ¢, then what is the value of E—z
X

atx=07?

(a) ¢!

(b) e?

(¢) e

d 1

What is '[El-:l:%)zdx equal to ?
! +c

@ 1+mx?
1
® Qemxn? ©
——-x +C
© (1+lnx)
- X

(@ (1+1n x)* *e

where ¢ is a constant.

If P(A) denotes the power set of Aand A is
the void set, then what is number of
elements in P{P{P{P(A)}}}?

(@ 0
b 1
() 4
d 16

) Coa3x
What is xl_inw [ﬁ;) equal to ?
(a) ¢
(b) ¢
) ¢*
@ ¢

(Contd.)




40. kﬁﬂﬁw%uﬁaﬁy=sinkx,y=0,‘ Rty o D = a2y o T
x = n/k, x = n/(3k) &1 P @t 3 wf g A4 TR XYy TeAXTON LG
¢ 27
(@ 172 E (@) e
(b) 1 - (b) e?
. (c) e
() 32 o
@ 2 Gy

(1 +In x)?
i
(@) y+x?=c | @ (1410}

(b) y*+2x'=c¢ 1
(b) (1+lrn-:)z+c

: In x
dx s goeac e 7
. ¥FFA FFIOT x dy — y dx = xy? dx FT &9 -[ &

e 7
+C

(c) y+x'=c¢ |
d) x2+2xy'=¢ - (©) X _4c

1+1
Wl ¢ =T & | (+£x)

@ ()t

!
. R f(x)=a+bx+cx? @ If{x)dx%ﬂ%

wEf caET B

sTET B ? _ _

(a) [f(0) + 4£(1/2) + £(1))/6 . Tt P(A), A F1 U §H==4 %.3111 A T
(b) [F(0)+4f(172) + (D)3 ;‘i;—"“ 2, A P{P{P{P(A)}}} A T st
(c) [f(0)+41(1/2) + £(1)] (a)' o

(d) [f0)+2f(1/2) + K(1))/6 ®) 1
© 4

Ia+bsinxdx A %'? ) (d) 16

cos? x

3
(a) asecx+btanx+c . lim [ X J" .
(b) atanx+bsecx+c X—>0 \3+x

(c) acotx-+bcosecx+¢ (a) e

(d) acosecx+bcotx+c \ (b)

W@ a, b, cIET T ' (©)
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48.

49.

50.

Consider the following function f: R - R
such that f{x) =x if x>0 and f(x) = —x?
if x < 0. Then which one of the following is
correct ? -

(a) f(x)is continuous at every x € R.
(b) f(x) is continuous at x = 0 only.
(¢) f(x) is discontinuous at x = 0 only.

!

(d) f(x)is discontinuous at every x € R.

2 2 :
Ile_x +‘]1_y =a, then what is ix

equal to ?

@ Ja-x>)(1-y?)

*

51. Which one of the following functions

f: R —» Ris injective 7

(@ fx)=|x|forallx eR
(b) fix)=x? 'f'or allx e R
©) f(x)=11forallx € R
(d) f(x)=—xforallx € R

52. What is the derivative of log 5 with respect
to log,x ?

(a) —(log; x)?
(b) * (log, x)?
© -—(log, 5)?
@ (log, 5)?

i

~ 53. The velocity v of a particle at any instant

b 1-y? t moving in a straight line is given by
¥V i=x2 v = s + 1 where s meter is the distance
travelled in t second. What is the time
1-x2 taken by the particle to cover a distance of
© yi2 ¥ 9 meter ?
(a) 1s

(d) None of the above

2
Ifx=Intand y=1t>— 1, then what is d_g at
X

t=1equalto ?

(b) (In10)s
© 2@ni0)s
T () 10s

54. Thecurvey’=-4ax (a>0)liesin:

(@ 2
(a) First and fourth quadrants
(b 3
) (b) First and second quadrants
(c) 4 (©) ’Second and third quadrants
(d) 4 o\

(d) Third and i:c[)u\ fuad{ants
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48, % f:R - R X faR R, 30 g &
fix)=x A x20 AT fix)==x%, MR x <0
o e ¥ e dw 8 7

(a) f(x)¥AF x € R W &l &
(b) f(x)FaF x =0T Faa 2
(c) f(x)®ad x =0 W Had df 8
(d) f(x)TAF x € R 9T §aq 761 &

dy
9. WM Ji-xP1yf1-y?=a @ T P

TETCE ?

@ Ja-x>)(1-y?)

1-y
b
(.) 2
1~~)c2
(c) 1—y2

(d) IvfE § F P 7T

dly
50. AR x=mtIRXy=2—1, At=1 W —

dx
fFas syEe g ?
{a) 2
(b) 3

(c) 4

d 4

51.

52.

33.

54.

freafofem ¥ 991 o6 w1 f: R > R
@ B 7

(@ fx)=|x| o™ xeR F A
(b) f(x)=x2mﬁxen%1%%r
(¢) fx)=11% x e R& R
(d) fx)=-xaf x e RP A

log,5 FT log,x & @TJeT IEehers o1 & 7
(@) -(log,x)?

(b) (log x)”

() —(log, 5)*

(d) (log, 5)?

T T o 99 @ Y o 3w v il e
tR v=s+ 18, J6l t §avg & q@ = 7 g
sHRT i 0 9 e A g @ wA A
fre=T ey ST B 7

@ 1s
(6) (In10)s
€ 2(nl10)s
(d 10s

T ¥ =— 4ax (a > 0)

(@) %ﬁaﬂrﬁaa@ﬁﬁﬁ?
(b) wB T gER gt A @
() T 3wy wgafelt A &

@ e %\?ﬁﬁﬁ 2
=/ —
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55.

56.

57,

58.

The circle X2 + y? + dx — 4y + 4 = 0 59.

touches :

(a) Only the x-axis

(b) Only the y-axis

(c) Both the axes

(d) Neither of the axes

What is the value of n so that the angle
between the lines having direction ratios
(1,1, 1) and (1,-1, n} is 60° ?

(@ 3
® Jo 60.
(c) 3 '

(d) None of the above

What is the product of the perpendiculars

from the two points (+vb? —a?,0) to the
lineaxcos¢ +bysingp=ab?

(a) a?

(b) b

{c) ab

(d) ab

The middle point of the segment of
the straight line joining the points (p, q) and
(q, —p) is (1/2, s/2). What is the length of the
segment ? '

(8 [(s+r})7?)2

(b)) [(s*+1)?)/4

(¢) (s*+nr)”?

(d) s+r

61.

The direction cosines of a line are
proportional to (2, 1, 2) and the line
intersects a plane perpendicularly at the
point (1, -2, 4). What is the distance of the
plane from the point (3, 2, 3) ?

@ 2
® 2

©) 242
@ 4

The foot of the perpendicular drawn from
the origin to a plane is the point (1, -3, 1).
What is the intercept cut on the x-axis by
the plane ?

@ 1
®) 3
© J1
@ 11

’

A line makes the same angle o with each of
the x and y-axes. If the angle 8, which
it makes with the z-axis, is such that
sin?0 = 2 sin®a,, then what is the value of « ?

(a) n/4
(b) n/6

(c) n/3

@ =2 =,
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55.

56.

57.

58.

T X2+ y2 + 4x — 4y + 4 = 0 Frgany =99t @
g7

(a) FITT x-FH B

(b) FaA y-31 TN

(c) T I #:

(d) Ty ofr srer = TH

n & A T 80N, i a1 X@en &, e
ﬁﬁ_m (19 1: 1)‘?'hT (1,—1,1'1)%, e
FIT 60° BT ?

@ 3

b Je

() 3

(@) ST X & A T

Q1 forgdl (£4/b% —a?,0) ¥ [T ax cos ¢ +
by sin ¢ = ab 9T ST T TFST T YOTAHA F41
g7

(@ &
() b
(c) ab
(d) ab

Rig3 (p, q) AR (q, —p) A TP ITH TWA
@ B g3 F " g (172, 5/2) 81 99 Y@
s A TS FT B ?

(@ [(s*+r)'7)2
(b) [(s*+r)"7)a
(c) (s#+r)”

(d) s+r

59.

60.

6l.

et Y 9 Reerea, (2, 1,2) F Srgow #
§ it w @ ' B R (1, -2, 4)
TR A Hree & @ g (3, 2, 3) N e
AghFe?

@ 2 \
® 2

© 242
d 4

frdor-e-farg & & T W IW T
w1 9@ Beg (1,-3,1) ¥ | TR BT x-30& &
FeT T E@S AT 7

(@ 1
) 3

© V1
(d) 1

TF @ x-FF AT y-IA § gHEA D

oA R AR zw ¥ T 0T AW @

TN B fF sin20 =2 sinfa B, @ o &1 AT
FT B ?

(a) n/4
(b) w6

(c) w3

(d) =n/2




62.

63.

64.

65.

What is the locus of a point which is
equidistant from the point (m + n, n — m)
and the point (m —n, n + m)?

(a) mx=ny

(b) nx=-my

(¢) nx=my

(d) mx=-—ny

What is the equation of the sphere which
has its centre at (6, —1, 2) and touches the
plane 2x —y+2z-2=07?

(a) x*+y?+2z2+12x—-2y+4z+16=0
(b) x*+y*+z2'+12x-2y+4z-16=0
() xX*+y*+2°-12x+2y—-4z+16=0
(d) x2+y*+22—12x+2y-4z+25=0

What are the direction ratios of the line
determined by the planes x —y +2z= 1 and
X+y—-z=37

(@ 1,3,2)
(b) (-1,-3,2)
© 2,1,3)
(dy (2,3,2)
2 2

The ellipse x—+%§=1 has the same

<2 2
eccentricity as the ellipse -a—2+-i)7 =1,
What is the ratioofatob ?

(@ 513
) 13/5
) 7/8

d) 8/7.

66. If 4 and b are the unit vectors along & and

67.

68.

IR
8 wwuw.qu

Unfold Every Question

b respectively, then what is the projection

ofpona?

(@

il
.
o b

®)

TS
.
o

(€} aeb
@ |axb|

What are the unit vectors parallel to
xy-plane and perpendicular to the vector

4i - 3] +k?

(8 +(3i+4j)5

(b) +(4i+3j)s -
(€©) +(@3i-4jy5

(d)y +(@i-3j)s

What is the vector in the xy-plane through
origin and perpendicular to the vector

T =ai + bj and of the same length ?
(@ -—ai- bj

(b) ai-bj

(€) —ai+bj =\

@ bi- af/\\\\//ﬁ_...—-/“—“

———
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62.

63.

64,

65.

39 farg =1 farg 9a <t g3 (m+n,n—m)_
M (m—-n,n+m) & FOC T W w8,
TR 7 :

(a) mx=ny
(b) nx=-my
(c) nx=my

(d) mx=-—ny

Ig MA F GHRHO T 2 EET Dew
(6,—1, 2) 9% B A N gAaA 2x —y + 2z —
2=0% el w8 ?

(a) x*+y*+z22+12x—-2y+4z+16=0
(b) x2+y?+z22+12x=2y+4z-16=0
() x*+y*+22—12x+2y—-4z+16=0
(d) X*+y*+22-12x+2y-4z+25=0

A x —y+2z=1 M x+y—z=3q A
Y # Re-sraa w7 g ?

(@ (-1,3,2)

by (-1,-3,2)

(c) (2,1,3)

@ @.3,2)

x? y? ' .
HICEN] —+-—=13%Bﬁ'7§ma‘iﬁ%ﬁ"f‘

169 25

2

2
—+'T—l Eﬁ% t‘haﬂbaw
a~ b

SLEEA

| & 7
(a) 5/13
(b) 13/5
(c) 7/8
(d) 8/7

66. TfX TR Fikwr 4 AT §, FA 7 A p &
A A L g WIBTFME ?

(@) deb

o'

‘ (b) ze
(?) seb

(D ‘5><B|

67. ¥ g uiw w0 B S xy-9H0q & FHIA
AR ART 4§ —3j+ k A € ?

(@ +(37+45)/5

\

(b) +(@4i+3j)s

N

(€) +@3i- 4})/5_

(d) +@i-35/5

68. xy-9Hac ¥ 95 wew 7y 8, w1 Frdw-yw-fg
o B AR ARA t=aj+ by P orEaq 8
A IN B FTE q=E FE ?

(@) -ai-bj

' (b) ai-b]

—ai+bj

(©

d) bi-

LA
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69. Given & =2i 3]+ 4k and § isaunit vector
co-directional with a. If m is a scalar such

that b=ma , then what is the value of m ?

@@ 1/5

®) 1/4J5

(c) 1/29

d) 1729

70. The magnitude of the vectors @ and p, are
equal and the angle between them is 60°.

If the vectors 35+b and a—Ab are
perpendicular to each other, then what/is the
valte of & 7

@ 1
(b) 2
© 3
(d) 4

71. If |d|=3, |b|=4 and |é—5|=7, then
what is the value of | @+b| 2
(@) 3 , ‘
(b) 2

(c) 1
@ o

A

72. Consider the diagonals of a quadrilateral
formed by the vectors 3i+6j-2k and
4i-j+ 3k . The quadrilateral must be a :
{(a) Square
(b) Rhombus
(c¢) Rectangle
(d) None of the above

73. If p=sin (989°) cos (991°), then which one
of the following is correct ?

(a) p is finite and positive
(b) pis finite and negative
{c} p=0

(d) pisundefined

4in .
74, If A=—l?, then what is the value of

1-3tan? A
3tan A-tan® A
(a) -1
(b 1
(cy 13
d) 3

75. If @ is the cube root of unity, then what is

the conjugate of 200? + 31 ?
(@ 2m-—3i

(b) 3w+2i

© 20+3i _ .\,

@ 3o-2i \/\.;

-0 wmw.qufﬁinnpap&m.in |

Unfold Every Question




69. R ? a=2i-3j+4k M §, 3 N R A

70.

ZHR Gflew 21 O m fewr ® | oy
b ma,fﬁmiﬁrﬂﬁw%?

(@) 1/5

b)) 1/45

() 1/29

(d) 1/v29

i g 3N p & Ry gt & AR I
9 F1 R 60° 71 wR RW pz4p I

i—Ab TH TEY WX AFaq 8, O A BT A
g 7

@ 1
(b) 2
© 3
(d) 4

71 @ |d@[=3, |[b|=4 sx [d-B|=7,

|5+B|a=rm=ra‘m%?
(a) 3
(b) 2

() 1

(d) 0

72. WRE 3i+6j-2k M 4{-j+3k 7 A

73.

74.

75.

TF IS F Bl R R A wgp
& awe =1 g & =y ?

(a) @t
(b) TEEPw
(c) 3Imag

(d) Iow W ¥ P A

afe p = sin (989°) cos (991°), 1 FA=fafe
99T OF e g 7

(a) p R AR g97w=F 2
(b) pIRFT M= woTHS B
() p=0

(d) p Iufonim 2

4ln 1-3tan’ A
e A=—, @
12’ 7 3tanA—tan’ A

FT AT
e 7
(a -1
(b) 1
(c) 1/3
(d) 3

MR o, TR F ITTA B, A 202 + 30 w7
a2 7
(a) 20-3i
(b) 3o +2i
(c) 20 +3i
@ 30-2i

N
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76.

77.

78.

79.

Consider the following statements :

1. 1f 6 = 1200° then (sec 6 + tan 0)! is
positive.

2. 1f9=1200° then (cosec 8 —cot ) is
negative.

Which of the statements given above is/are
correct 7

(a} 1only

(b) 2only

{(c) Both1land2
(d) Neither 1 nor 2

If cot © =2 cos 0, where (n/2) <8 <, then
what is the value of 6 ?

(a) 5n/6
(b) 2n/3
(c) 3m/4
) 11m/12

If cot ® = 5/12 and 6 lies in the third
quadrant, then what is (2 sin 6 + 3 cos 6)
equal to ?

(a) -4
(®)
(€)

—p? for some odd prime p

(—q/p) where pis an odd prime and q a
positive integer with (g/p) not an

integer.

(d)

~p for some odd prime p.

What is the value of cos(n/9) + cos(n/3) +
cos(5n/9) + cos(7n/9) ?

(@ 1

(b) -1

() -1/2

(@ 172

22

80.

81.

82.

If in a triangle ABC, cos B = (sin A)Y/(2 sin C),
then the triangle is :

(2
(b)
(c)
(d)

Isosceles triangle
Equilateral triangle
Right angled triangle

Scalene triangle

During a certain plan period a state out of a
total budget of Rs. 1400 crores had spent
28% of the total amount on Agriculture, 35%
on Industry, 12% on Energy and 8% on
Social Welfare, 105 crores on Education and
the balance amount on Transport. What is
the amount spent on Transport in crores of
rupees ?

(a)
(b)
(©)
(d)

123
145
165
133

A class consists of 3 sections A, B and C
with 35, 35 and 30 students respectively. The
arithmetic means of the marks secured by
students of sections A and B, who appeared
for a test of 100 marks are 74 and 70
respectively. The arithmetic mean of the
marks secured by students of section C, who
appeared for a test in the same subject which
carried 75 marks is 51. What is the average
percentage of marks secured by all the 100
students of the three sections 7

(a) 700
(b) 708
©
(d)

65-0
67-5

(Contd.)




76. Preafafaa =T g B #ifsT .

77.

78.

79.

1. @’ 6 =1200° @ (sec O + tan )"
TS 8 |

2. af? @ = 1200°, @ (cosec B — cot B)
HUTHF & |

IrgF woAT ¥ SE/A S 2/8 7

(¢) 13T 2 3
(d TA 1T E2

afe cot0=2 cos 0, T (/2) <0 <7, A Q&
I FTE 7

(a) 5n/6
(b) 2n/3
(c) 3n/4
) 117/12

AR cot 6 = 5/12 X @R =qufer ¥ 2, 4
(2 sin 0 + 3 cos 0) fvasd s 8 ?

(a) 4
(b) —p? & Rum sy p & Bl

(¢) (~g/p) el p wh fawm snied R q

T gATeHE QUi @ 3T (q/p) TF TN
T2 8

(d) —p B fum soasw p & o

cos(1/9) + cos(n/3) + cos(5n/9) + cos(7n/9)
T WA TR ?

(@) 1

(® -l

(c) 172

dy 172

80. IR & B ABC ® cos B = (sin AY/

81.

82.

(2sinC) 2, A Fnye forg @R W B 7

T @F Do1-3af § T TS 3 H5e 1400
FAU3 TUC F F9e F 28% F T, 35%
I 9T, 12% Tl 9, 8% WIHISEG Hedmor
9T, 105 A5 TAC Rren 9 Ak 9w
gREeT R @ e o w0 &g aias
9X @ Y ?

(a) 123
(b) 145
©) 165
() 133

T F&T B A, B AT C I epwm 2 fogH
w35, 35 3T 30 faemdt 81 Fgam A AR
B % RerRid g @ 100 sit awedt wen §
sffa st &1 gATaT we wEE: 74 AR 70
2 3@ fam ¥ 75 It arch o wden A
FmT C & frenfiiat grr sftha sishl = wra
Arer 5181 @1 st & et 100 ek
g Fida st @ e viwe Fwm 8 ?

@) 700
(b) 708
(c) 650
@ 675

BN\
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83. In a town 35-4% of the people are not
literates, 27% have education up to primary
school, 18-6% have education up to middle
school. The people with education up to high
school are twice the number of people with
education up to Pre-University. Of the
remaining, 660 are graduates. If the
population of the town is 15,000, then what
is the number of people with education up
to high school ?

(@) 3120
(b) 1560
(c) 1460

(d) None of the above

84. Three letters are randomly selected from the
26 capital letters of the English Alphabet.
What is the probability that the letter ‘A’ will
not be included in the choice ?

(@ 172
(b) 23/26
() 12/13

@ 25/36

85. A coin is tossed 10 times. The number of
heads minus the number of tails in 10 tosses
is considered as the outcome of the
experiment. What is the number of points
in the sample space ?

(a) 10
(b) 11
{c) 21
(@ 99

86.

87.

88.

In a study on the relationship between
investment (X) and profit (Y), the following
two regression equations were obtained
based on the dataon X and Y :

3X+Y-12=0
X+2Y-14=0.
What is the mean X ?
(a) 6
(b) 5
(¢ 4
(d) 2

Following table gives the mean and variance
of monthly demand for four products A, B,
C and D in a supermarket :

Product AiB IC D
Meandemand | 60 | 90 | 80 | 120
Variance 12 [25]36] 16

For which product the demand is consistent?
(a) Product A
(b) Product B
(¢) Product C
{(d) Product D

What is the least value of the standard
deviation of 5 integers, no two of which are
equal ?

@ s
(b) 2
(C) JE __:[_\ 1
YRS
(d) No such least %{ n be computed

>
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83. WH W F 35-4% wr Rt 781 & 27%
feren gl wx 9%, 18-6% 4 B Bl
he! T 8 | B T aF [T WG o 9
ae B-ghaEfdd o fde ot Y Jen @
QAT & 1 I 9 antt ¥ 660 Trew g1 R
W H TAFE@T 15,000 & O BT S ER
oo o it & ?

(a) 3120
(b) 1560
() 1460
(d) Svdw & & F &

84. SIS F 26 a3 (Pfoewr) e F ¥ 3 e
Tefos &9 A o ™ ¥ (39 9T ¥ e A
F T B F Willea | g ?
(a) 172
(b) 23/26
(cy 12/13

(d) 25/36

85. Uk WFd w10 X IoT @ 2|
10 I&l # B8 3 A e ¥ 3|
F H@ B GCRHT Y @I @ 9oy
wET T @) wieef wafe § s (@)
# gEm g ?
(a) 10
() 11
(c) 21
(d) 99

86.

87.

88.

e (X) s e (Y) ¥ wey & swaa #
X AT Y B yiwgt & s ) Preffea &
TR TR I R T

3IX+Y-12=0
X+2Y-14=0
e X wTE ?
(a) 6
(by 5
c) 4
(d) 2

Freiom anfer e et A, B, C 3R D
! IR AR F AT AT 1 7T T 9@
Arela Fd &

Il A(B |[C D
HTEE AT 1 60 (90 | 80 | 120
b LU 12 {25136 16

e Icure =t @im W 2 7
(a) IR A
(b) IR B
(¢) QR C
(d) SR D

5 quii &, RAd w8 ff & s A8 g
AAS e &1 e A o g o?

@ 5

®) 2 -

© -\[_ L NYA

(d) Qmwﬁé@m
wuwl. HUBEtIDHDaPBrZ in
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89. Two numbers are successively drawn from
the set {1, 2, 3, 4, 5, 6, 7} without
replacement and the outcomes recorded in
that order. What is the number of elementary
events in the random experiment ?

(a) 49
(b) 42
(c) 21
(d) 14

90. The probabilities of two events A and B are
given as P(A)=0-8 and P(B)=0-7. What is
the minimum value of P(A " B) ?

(a) 0
{(b) 01
{c) 05
d) 1

91. Two numbers X and Y are simultaneously
drawn from the set {1,2,3,4,5,6,7,8,9,
10}. What is the conditional probability of
exactly one of the two numbers X and Y
being even, given (X + Y} =157

(a) 1

(b) 3/4
(c) 172
(d) 1/4

92. Ifx, 2x + 2, 3x + 3 are the first three terms
of a GP, then what is its fourth term 7

(a) 272
by 2772
(c) —3372
(d) 33/2

93, Correlation between two variables is said
to be perfect if

(a) one variable increases, the other also
increases

(b) one variable increases, the other
decreases

(c) one variable increases, the other also
increases proportionally

(d) one variable increases, the other
decreases proportionally

94. Consider the following statements :

1. The data, which are collected from the
units or individual respondents directly
for the purpose of certain study or
information are known as primary data.

2. The data obtained in a census study are
primary data.

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2only

{(c) Both1land2
(&) Neither 1 nor 2

95. Given that P(A) = 1/3, P(B) = 3/4 and
P(A U B) = 11/12, then what is P(B | A) ?

(a) 1/6

(b) 4/9
(¢c) 172

@ 173 //\\\\//
=
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89.

90.

91.

92.

== {1,2,3,4,5,6,7) 4 A d@K TF &
= oF AT g & el ol § &)
ol @ Sd W o fh s B %W
argfess A # fa g ey § ?
(a)' 49
(by 42
{cy 21
(d) 14

37 AT A MT B & Wi, P(A) =08
I PB) =07 &1 P(ANB) @1 fre=aq

T T g ?
(a 0
(b) 01
) 05
(dy 1

q gEmd X X YEg=ay {1,2,3,4,5,6,7,
8,9, 10} ¥ ©F | Pl 7Y | fawr w8
(X+Y)=15, o & gt X T v H unkh
F g9 @7 8 #1 aufasy wiea | e ?
(@) 1
(b) 3/4
) 12
(d) 1/4

R x, 2x + 2, 3x + 3 ONER HE & uger A
TE Qe AU e 7

(a) —-27/2
(by 27/2
(¢} 3372
(d) 3372

93. A A F §I 1 wewEy P FEewn ¢, A
() TF I quuE B, @ N 98EE 8
(b) TH =X IUAT B, Y FEHAH &

(¢) TF I IuAA B, gET o s ¥9
¥ ada B

(d) T =T a8, qEA IueE &9 @
FEATT Bl

94. PR FuAT w R FIRT -

. o SEEE 9 g1 3 IR og gl
7 IS Al ¥ Ucel 'Y ¥ €U
gl Y qrefs AHST FES 8 |

2. SATUFT FEEA § I Ahs, WHE
P €|

Soe & FrrE/HE U a8 8/E

(a) a1

(b) FIw 2

(c) 13T 23N

(d) AN 1A T 82

95. far & P(A) = 1/3, P(B) = 3/4 &
P(A U B) = 11/12, @ P(B|A) ¥ &8 7

(a) 1/6

(b) 4/9
) 12

4
-—Nt

K g L
| ==

AWWW. quUestionpaperdin
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96. Ifa, band c are real numbers then the roots
of the equation (x — a) (x — b) + (x — b)
(x —¢) + (x —c) (x — a) = 0 are always

(a) real
(b) imaginary
(¢) positive

(d) negative

97. If (log, x) (log, 2x) (log, y) = log, x?, then
what is the value of y ?

(@) 9/2
(b) 9
() 18
d 27

98. Iflog, x log, k =3 then what is x equal to ?
(a k’
by Sk’
(c) 243
(d) 125

1 1
99. Which term of the sequence 20, 19; . 185 R

is the first negative term ?
(a) 27n

(b) 28"
(c) 29"

(d) No such term exists

100. If sin"'x + cot™(1/2) = n/2, then what is the

101.

102.

103.

value of x ?

(@) 0

®) 175
(©) 2/45
@) V372

For the two equations x? + mx + 1 =0 and
x? + x + m = 0, what is/are the value/values
of m for which these equations have at least
one common root ?

(a) —2only
(b) 1only

(c) ~2and1
(d) -2and-1

Looking from the top of a 20 m high
building, the angle of elevation of the top
of atower is 60° and the angle of depression
of its bottom is 30°. What is the height of
the tower ?

(a) SOm
() 60m
{(c) 70m
(d) 80m

What is the value of \/5 cosec 20° —sec 20° ?
(a) 4

® 3
© 2 ‘k\/
@1 N/
ﬁ'- I -
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96. Te a, b AT ¢ aaF degdl & a1 gHHEIT 100. 3% sin~'x + cot'(1/2) = n/2, T x Ft W FA
x-a)(x-b)+t(x-b)(x—c)+ (x—c) g7
(x —a)= 0% T gATN

(a) drafds ¥
(b) wreafrs &
(c) OIS g © 2/45

(d) =HURHF & @ 372

(a) 0

(®) 1/Vs

. 3R (log, x) (log, 2x) (log,, y) = log x?, @ 1. 2 T 2+ mx+ 1 =03 x2+x+m=0
y & FAA B 7 # f mw/3 /Mgl wT 2/2
Fed o ® W & FW W A
(@) 972 Iwafrss 8 ?
(b) 9 (a) T —2
(c) 18 (b) Pad 1
(d) 27 ) 23R 1
@ -2 3 -1
. TR log, x log k=3 x fhas sxm@e 2 ?

(@ K .20 m 34 Tad & i ¥ R W U R
b) F gt & IFATH W 60° 8 IR 3D

FUEA B FGAAT FOT 30° B ) DA F
©) FaE w8 7

(d) (a S0m

(b) 60m

1 1 3
- - d (¢c) 70m
. FIHH 20,194,182,174,

U5 9Bl HUNCHF U% ¥ 7 ' (d) 80m
(@ 27df u

. /3 cosec 20° —sec 20° F AT _EETI% ?

(b) 281 ug

(c) 297 W (@) 4

(d) TEr w1E ug fem= A8 E ®)
©) 2
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104. Match List-I with List-II and select the
correct answer using the code given below

108.

i

Sets A and B have n elements in common.
How many elements will (A x B) and

the “sti;’_] Ll (B x A) have in common ?
A. tan 15° 1. -2-.3 (a) 0
B. tan 75° 2.2+ 3 ) 1
C. tan 105° 3. 2+ 3
4. 2- 3 () n
Code :
A B C @ o
@ 4 1 2
(by 4 2 1 109.1f z is a complex number such that
) 3 2 1 z+ 7! =1, then what is the value of 2* + 2 ?
@ 2 1 4
(a 1
105. In a triangle ABC, a+ b= 3(1 + {/3) cm
and a—b=3(1 — /3 ) cm. If angle A is 30°, (®) -
then what is the angle B ? () 2
(a) 120° d -2
(b) 90°
() 75° 110. In an AP, the m" term is 1/n and n" term is
(d) 60° © 1/m. What is its (mn)" term ?
106. If N_= {ax | x € N}, then whatis N,, " N, (a) 1/(mn)
equal to ? (b) m/n
(@) N,
®) N, (¢) n/m
© N, (dy 1
(d) N,

107.f X = {(4"-3n-1) | n € N} and
Y={9(n—-1)|n € N}, then whatis X UY

111.

How many times does the digit 3 appear
while writing the integers from I to 1000 ?

equal to ? (a) 269
@ X (b) 271
Ebi ; c) 300
C

(&) Noncpftl‘lz ﬁ\(fé\. L

(d) A null set
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105.

106.

107.

T
g1 g1l
A. tan 15° 1. —2- 43
B. tan 75° 2. 2+ .3
C. tan 105° 3. 2+ .3
' 4, 2- 3
FT
A B C
(a) 4 1 2
® 4 2 1
(cy 3 2 1
d 2 1 4

B[ ABCH a+b=3(1+ V/3) cm 3
a—b=3(1~+3)cm &1 7R AT A30° %,
WHUB RIS 7

(2) 120°

(b) 90°

(c) 75°

(d) 60°

aRk N = {ax|x € N}, & N, "N, B
T B 7

(@ N,

(b) Ny

€ N,

(d) N

I X ={@ -3n-1)|ne N} 3
Y={9n-1|neN}, & XUY Fa®
FUET 8 7

(@ X
b Y
(c) N
(d) IFuL=y

108.

109.

110.

11l

T A A BF n I90d IS E, @
(A x B)3R (B x A)¥ frat a3
B 7
(a) 0
(b) 1
(¢) n
(d) n®

R v Em g g Al 2+ 20 =1, @
29+ % A T 7

(@ 1
(b)) -1
(cy 2
(d -2

& gAY 3 1 mal W€ 1/n A nd T8
I/m 2 @ =9 mnd 9% 18 7

(a)
(b) m/n

1/(mn)

(c) n/m
(d 1t

1% 1000 TF it @t Rrew gu oF 3 et
TR 3w ¢

(a) 269
(b) 271
(c) 300

& v ?ﬁibirfﬁ
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112, Consider the fOHO'Wing statements ; 116. What is the area bounded by the curve
1. The coefficient of the middle term in y = 4x — x? — 3 and the x-axis ?
th i I +x)i t
e expansion of (1 + x) 1: equal to (a) 2/3 square units
1
the middle term of (X + ;J . (b) 4/3 square units
2. The coefficient of the middle term in (€) 573 square units
the expansion of (1 + x)® is less than (d) 4/5 square units
the coefficient of the fifth term in the
expansion of (1 +x)'. 117. A function f is such that f'(x) = 6 — 4 sin 2x
Which of the above statements is/are and f(0) = 3. What is f(x) equal to ?
t?
correc (a) 6x+2cos2x
(a) 1only
) 2 only (b) 6x—-2cos2x
() Both1 and 2 (¢) 6x—2cos2x+1
{(d) Neither 1 nor2 (d) 6x+2cos2x+1
113. When' a and b are eliminated from .the 118. If f(x) = e* and g(x) = In x, then what is the
et.quatml? Xy = r:%e" + be™, the resulting value of (gof)' (x) ?
differential equation is of :
(a) first order and first degree @ 0
(b) first order and second degree (b) 1
(c) second order and first degree {c) e
(d) second order and second degree (d) None of the above
= ! _ -~
114. lfyd (1 +x") (1 +x'2) (1 —x"), then what 119. Let g(x) = x* — 4x + 6. If f'(x) = g'(x) and
is i equal 1o ? f(1) = 2, then what is f(x) equal to ?
(@ 1 (@ x'-4x+3
(b) -1 (b) x})-4x+6
(¢) 0 () xX*—4x+1
(d) -2x d) ©—dx+5
115. The velocity of telegraphic communication
120. Let f: R — R be defined by f(x) = | x|/ x,

is given by v = x? In(l/x) where x is the
displacement. For maximum velocity, x

equals”tzo? @ {1,2}
EE; :-”2 (b) {1,-
© (o) © {1,1,2}v \\//
(d) 2e'7 d) {1}

x# 0, f{0) = 2. What is range of { ?
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112. fFreffed w0t 91 e A

113.

114.

115.

1. (1+xP® y@rR ¥ wen 9g &1 s

8
(x+%) DO YD ITEC B

2. (1+x) & TR & 751 98 F NS
(1+x) & W@R F 9 93 & Ui §
BIET £ |

IudEy FuAT ¥ FFE/AEY qg) 28 7

(a) Faa 1

(b) a2

(¢) 13T 2 QAT

(d F@ 13T 2

FHIHTT xy = ae*+ be* ¥ a X b & fachaT
m%,qﬁvrrﬁ?aamﬁw:
(a) 9uH *fE MR vom uw w1 2
(b) wuH FIfE A g wa =1 2
(c) Tedw :Ife N yorg o =1 8
(d) B ctfo g w2

e y=(1+x") (1 +x") (1 —x"), A j—i
s sEe g ?

(a) 1

(b) -1

(c) O

(d —2x

SENUTH-FETX 1 I v = x? In(1/x) & w@f x
faeemaT 21 arfeaw J & forg x B sqEe
BT ® ?

(a) e'”?

(b)
(c)
(d)

e—le

(2e)!

26412

33

116.

117.

118.

119,

120.

T y = 4x —x* — 3 AT x50 gRT I T B
FT AR T & 7
(a) 273 @f =g
(b) 4/3 @t FTE
(¢) 5/3 @ i
(d) 4/5 = T

TF Fod fE@ a@ T8 & f(x)=6—-4sin
2x AR f(0)=3 2t f(x) P g & ?

(a) 6x+2cos2x
{(b) 6x-—2cos2x
(c) 6x—2cos2x+1
(d) 6x+2cos2x+1

TR f(x) = e* M g(x) =Inx, @ (gof) (x) F
HHE 2 ?

(@) 0

(b) 1

(€) e

(d) ST A § A T

A g(x)=x3.—4x+6 g1 =R
f(x)=g'(x) I f(1)=2 & f(x) o sTax
B7?
(a)
)]
(©)
(@

x*—4x+3
X’—4x+6
X} -4x+1

xX*—4x+5

AT f: R > R, fx)=|x|/x,x=0,
f(0) =2 g7 afonfem &, @1 £ &1 W= 1
27

(@ {1,2)}

(b) {1,-1}

(C) {“1!1’2}

@ {1}
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AN . Q-OEBB-J-NB | e gt sgww
mn‘.L J r |
qdreror giasr
T
(7w - @ w2 ok i foe) (P - 300)
F3w

L 9w 3o 81 & g A8, W9 5@ qQerr giawr @ wgard sEv W o B ozad
WX A BN, wer ar gEr g TS svEr werw anfy 7 B afk dar 2 v 3w
Tieror gRawr @ s i)

2. IOE-UAT H Wl WE 9 wlewr JRaw sgET A, B, C A1 D awiReiy we w7 ¥ graw fitw

3. =@ T qRaF ux wa F Ru ww wrew § amd) 1

%ﬁmm%wﬁwgﬁaﬁwaﬁ?@
T |
4. T w{mw gRaw ¥ 120 ywriw (99) Ru w ¥ AT weiwm et A Aol A § o
21 30F geiw ¥ 9% wegeR (IwR) Ru g ¥ ' ‘
JAC-TAF W 3ifhd FTT T8 T 1 R I Ymn @ B oww B ES
TITT H S{fa FE S Ao FEE A TAF g B R B oF & e g 2
5. vl Imd @ yeger sem ¥ RY T I9e-TEE WO AT w0 2| IOt ¥ Ry
g fFrew e
6. AW yeArel R 3F gEEA B
7. W A a9 vhew giem $ R gerie 3 sogoe seRows wositka e e
FY, IR IV GHO-TF D WA IV AR B ITER FO A Iae-TAs ¥ 23 2
8. I FT Tl T H ITR-TAF N WA F 4@ qul AN P GANT W RAA IOC-IAF
yeles WY Iy AR I W ThHEW gRaE A W W seERT 2
9. F= FW P o vAw wdem yRaw B oavq ¥ warw ¥
10. T I F fog gum .
TGRS ye-wEll ¥ Sefirar g Ry e e s ¥ R g R smom
(i) ¥qF 997 & g o) Isfkos Sax | Iefear @ wois we @ Rw Ry T wE T
I & T we B Pew B g SR B wr-Re (033) T8 3 v F wreT ST
(i) ¥R FE IFfgaR @ ¥ Ffm IOX Rar @, N W e SW} WA Wwm, g9l R
T I F O IOl wh O R, R o 9w wew @ forg swfweR @ 9 ave
w1 gus fRmr Smem |

(iii)ﬁmmmﬁmmﬁmwﬁmzﬁfﬂ’wﬁﬁm
< \g /.

wIaT 8, @ W 99 @ Ry #F gve a9 Rwr wmom

( T TF HF 4T GOHT JRAFT SYAT I T T QT T
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